
GU/tNCLU zyxwvutsrqponmlkjihgfedcbaZYXWVUTSRQPONMLKJIHGFEDCBA

THREE-PHASE zyxwvutsrqponmlkjihgfedcbaZYXWVUTSRQPONMLKJIHGFEDCBA
I d ASYNCHRONOUS M OTOR 



www.crm.co.th zyxwvutsrqponmlkjihgfedcbaZYXWVUTSRQPONMLKJIHGFEDCBACrotr\pt>onzyxwvutsrqponmlkjihgfedcbaZYXWVUTSRQPONMLKJIHGFEDCBA Y3  zyxwvutsrqponmlkjihgfedcbaZYXWVUTSRQPONMLKJIHGFEDCBA

Y 3  zyxwvutsrqponmlkjihgfedcbaZYXWVUTSRQPONMLKJIHGFEDCBATH REE- PH ASE ASYN CH RON OUS M OTOR 

Ge n e r a l i n t r o d u c t i o n 

Y3 series three-phase asynchronous motors, developed with new techniques. 

Y3 series motors are def ined as total ly enc losed, fan cooled, squirrel cage type and noted 

fo r the i r novel des ign, beaut i fu l mode l , compac t s t ruc tu red , low noise, high ef f ic iency, large 

torque, excel lent s tar t ing per formance, easy serv ing, etc.The motors are adopted with F class 

insulat ion and designed with assessing method for insulat ion system according to internat ional 

pract ice, it enhances greatly have reached an internat ional advanced level of the same kind of 

products at the initial days of the 90s. 

Y3 series motors can be widely used as driving equipments of various machineries, such as 

machine tools, b lowers, pumps, compressors, t ransporters, agricul tural andfood processing. 

Pedestal instal lat ion size and centre height and other indexes of the motor completely measured 

by Y3 series three-phase asynchronous motor. 

Op e r a t i n g c o n d i t i o n s 

Ambien t t empera tu re : -15°C~40°C A l t i tude : A l t i tude shou ld be h igher than 1000 metres above sea leve l . 

Rated vo l tage : 380V, 400V, 415V, 440V. Rated f requency : 50Hz ,60Hz . Connec t i on : Y S ta r -connec t ion for 

3kw or less whe reas and de l ta -connec t i on . Du ty /Ra t ing : Con t inuous ( S 1 ) . 

Insu la t ion c lass : F, the tempera tu re r ise of the s ta tor w ind ing is exam ined at 80K 

(by res is tance me thod ) . Protection class: IP55. 

Coo l ing me thod : IC411 . 



[ ( M u l t )  zyxwvutsrqponmlkjihgfedcbaZYXWVUTSRQPONMLKJIHGFEDCBA

OU/tNOLU zyxwvutsrqponmlkjihgfedcbaZYXWVUTSRQPONMLKJIHGFEDCBA

TECHNICAL DATA OF Y3 SERIES 

Ful l  l oad current  

at  rat ed vol t age zyxwvutsrqponmlkjihgfedcbaZYXWVUTSRQPONMLKJIHGFEDCBA

Director !  Diect  on Direc t  on  M m „ . , _ „ _ 
j  Fulltoadsree d  P o w „  ine lin e \e  M " " * ° " n 

j  in revolut ions  Efficienc y I startin g start ing  pul l  ou t  P „ f ~ I „ 
per  minut e !  factor :  t o r q u e j zyxwvutsrqponmlkjihgfedcbaZYXWVUTSRQPONMLKJIHGFEDCBA c u r r m t j  torqu e  l ° ™® ™ r 

LRT LRA BDT Noise 

RLT RLA RLT LwdBIA ) k 

1 Y3- 80M1- 2 1.77 1.74 1.68 0.75 1 2840 75.0 0.83 2.2 6.1 2.3 67 16 0.75 

2 Y3- 80M2- 2 2.61 2.48 2.39 1.1 1.5 2840 76.2 0.84 2.2 6.9 2.3 67 17 0.9 

3 Y3- 90S- 2 3.46 3.28 3.16 1.5 2 2850 78.5 0.84 2.2 7.0 2.3 72 20 1.2 

4 Y3- 90L- 2 4.85 4.61 4.45 2.2 3 2855 81.0 0.85 2.2 7.0 2.3 72 \3 1.4 

5 Y3- 100L- 2 6.34 6.03 5.81 3 4 2860 82.6 0.87 2.2 7.5 2.3 76 30 2.9 

6 Y3- 112M- 2 8.2 7.79 7.51 4 5.5 2880 84.2 0.88 2.2 7.5 2.3 77 41 5.5 

7 Y3-132S1-2 11.1 10.53 10.15 5.5 7.5 2900 85.7 0.88 2.2 7.5 2.3 80 57.5 10.9 

8 Y3-132S2-2 14.9 14.1 13.6 7.5 10 2900 87.0 0.88 2.2 7.5 2.3 80 60.5 12.6' 

9 Y3- 160M1- 2 21.2 20.2 19.5 11 15 2930 88.4 0.89 2.2 7.5 2.3 86 107 37.7 

10 Y3- 160M2- 2 28.6 27.2 26.2 15 20 2930 89.4 0.89 2.2 7.5 2.3 86 114 49.9 

11 Y3- 160L- 2 34.7 33.0 31.8 18.5 25 2930 90.0 0.90 2.2 7.5 2.3 86 133 55 

12 Y3- 180M- 2 41 39.0 37.6 22 30 2940 90.5 0.90 2.0 7.5 2.3 89 165 75 

13 Y3- 200L1- 2 55.4 52.6 50.7 30 40 2950 91.4 0.90 2.0 7.5 2.3 92 218 124 

14 Y3- 200L2- 2 67.9 64.5 62.2 37 50 2950 92.0 0.90 2.0 7.5 2.3 92 230 139 

15 Y3- 225M- 2 82.1 78.0 75.2 45 60 2960 92.5 0.90 2.0 7.5 2.3 92 290 233 

16 Y3- 250M- 2 100 94.8 91.4 55 75 2970 93.0 0.90 2.0 7.5 2.3 93 359 312 

17 Y3- 280S- 2 135 129 124 75 100 2975 93.6 0.90 2.0 7.0 2.3 94 475 579 

18 Y3- 280M- 2 160 152 147 90 125 2975 93.9 0.91 2.0 7.1 2.3 94 510 675 

19 Y3- 315S- 2 195 186 179 110 1 50 2975 94.0 0.91 1.8 7.1 2.2 96 875 1180 

20 Y3- 315M- 2 233 222 214 132 180 2975 94.5 0.91 1.8 7.1 2.2 96 963 1820 

21 Y3- 315L1- 2 279 265 256 160 220 2975 94.6 0.92 1.8 7.1 2.2 99 1010 2080 

22 Y3- 315L2- 2 348 331 319 200 270 2975 94.8 0.92 1.8 7.1 2.2 99 1138 2380 

23 Y3- 355M- 2 433 412 397 250 340 2980 95.2 0.92 1.6 7.1 2.2 103 1900 3000 

24 Y3- 355L- 2 545 518 499 315 430 2980 95.4 0.92 1.6 7.1 2.2 103 2300 3500 

13 



www.crm.co.t h zyxwvutsrqponmlkjihgfedcbaZYXWVUTSRQPONMLKJIHGFEDCBA
Crompt>or\ 3 

TECHNICAL DATA OF Y3 SERIES 

1 Y 3 - 8 0 M 1 - 4 1.57 1.49 1.44 0.55 0.75 1390 71 0.75 2 .4 5.2 2.3 58 15 1.8 zyxwvutsrqponmlkjihgfedcbaZYXWVUTSRQPONMLKJIHGFEDCBA

? Y 3 - 8 0 M 2 - 4 2.05 1.95 1.88 0.75 zyxwvutsrqponmlkjihgfedcbaZYXWVUTSRQPONMLKJIHGFEDCBA1 1380 73 0.76 2.3 6.0 2.3 58 1 5.5 2.1 

3 Y 3 - 9 0 S - 4 2.85 2.71 2.61 1.1 1.5 1390 76.2 0.77 2 .3 6.0 2 .3 61 19 2 .3 

4 Y 3 - 9 0 L- 4 3.72 3.54 3.41 1.5 2 1400 78 .5 0.78 2.3 6.0 2.3 61 23 2.7 

5 Y 3 - 1 0 0 L1 - 4 5.09 4 .90 4 .72 2.2 3 1410 80 0.81 2.3 7.0 2 .3 64 29 5.4 

6 Y 3 - 1 0 0 L2 - 4 6.78 6.39 6.16 3 4 1410 82 .6 0.82 2.3 7.0 2.3 64 31 6.7 

7 Y 3 - 1 1 2 M - 4 8.8 8 .36 8.06 4 5.5 1435 84.2 0.82 2.3 7.0 2.3 65 42 9.5 

8 Y 3 - 1 3 2 S - 4 1 1.7 11.2 10.8 5.5 7.5 1440 85.7 0.83 2.3 7.0 2.3 71 63.5 21.4 

9 Y 3 - 1 3 2 M - 4 15.6 14.8 14.3 7.5 10 1450 87 0.84 2.3 7.0 2.3 71 72 29 .6 

10 Y 3 - 1 6 0 M - 4 22.5 21.4 20 .6 11 15 1460 88 .4 0.84 2.2 7.0 2.3 75 110 74.7 

11 Y 3 - 1 6 0 L- 4 30 28.5 27.5 15 20 1460 89 .4 0.85 2.2 7.5 2 .3 75 129 91.8 

12 Y 3 - 1 8 0 M - 4 36.3 34 .5 33 .3 18.5 25 1470 90 0.86 2.2 7.5 2.3 76 160 139 

13 Y 3 - 1 8 0 L- 4 43.2 40 .8 39 .3 22 30 1470 90.5 0.86 2.2 7 .5 2 .3 76 178 158 

14 Y 3 - 2 0 0 L- 4 57.6 55.1 53.1 30 40 1470 91.4 0.86 2.2 7.2 2.3 79 228 262. 

15 Y 3 - 2 2 5 S - 4 70.2 66.7 64.3 37 50 1475 92 0.87 2.2 7.2 2.3 81 288 406 

16 Y 3 - 2 2 5 M - 4 84 .9 80.7 77.8 45 60 1475 92.5 0.87 2.2 7.2 2.3 81 313 469 

17 Y 3 - 2 5 0 M - 4 103 98.1 94.6 55 75 1480 93 0.87 2.2 7.2 2.3 83 376 660 

18 Y 3 - 2 8 0 S - 4 138.3 131 127 75 100 1480 93.6 0.88 2.2 6.8 2.3 86 508 1120 

19 Y 3 - 2 8 0 M - 4 165 157 152 90 125 1480 93.9 0.88 2 .2 6.8 2 .3 86 581 1640 

20 Y 3 - 3 1 5 S - 4 201 191 184 110 150 1480 94.5 0.88 2.1 6.9 2.2 93 846 3100 

21 Y 3 - 3 1 5 M - 4 240 228 220 132 180 1480 94 .8 0.88 2.1 6.9 2 .2 93 940 3620 

22 Y 3 - 3 1 5 L1 - 4 288 273 264 160 220 1480 94 .9 0.89 2.1 6.9 2.2 97 1044 4130 

23 Y 3 - 3 1 5 L2 - 4 360 342 329 200 270 1480 94.9 0.89 2.1 6.9 2.2 97 1162 4730 

24 Y 3 - 3 5 5 M - 4 443 421 406 250 340 1490 95.2 0.90 2.1 6.9 2.2 101 1700 6500 

25 Y 3 - 3 5 5 L- 4 559 531 51 1 315 430 1490 95.2 0.90 2.1 6.9 2.2 101 1900 8200 zyxwvutsrqponmlkjihgfedcbaZYXWVUTSRQPONMLKJIHGFEDCBA

14 



1 Y3-80M1-6 1.3 1.23 1.19 0.37 0.5 880 62 0.70 1.9 4.7 2.0 54 15 1.6 

2 Y3-80M2-6 1.8 1 .70 1.64 0.55 0.75 880 65 0.72 1.9 4.7 2.1 54 16 1.9 

3 Y3-90S-6 2.29 2.18 2.10 0.75 1 905 69 0.72 2.0 5.3 2.1 57 20 2.9 

4 Y3-90L-6 3.18 3.02 2.91 1.1 1.5 905 72 0.73 2.0 5.5 2.1 57 23 3.5 

5 Y3-100L-6 4 3.80 3.66 1.5 2 920 76 0.75 2.0 5.5 2.1 61 29 6.9 

6 Y3-112M-6 5.6 5.29 5.10 2.2 3 935 79 0.76 2.0 6.5 2.1 65 41 14 

7 Y3-132S-6 7.4 7.03 6.78 3 4 960 81 0.76 2.1 6.5 2.1 69 59 28.6 

8 Y3-132M1-6 9.75 9.26 8.93 4 5.5 960 82 0.76 2.1 6.5 2.1 69 66 35.7 

9 Y3-132M2-6 12.9 12.3 1 1.8 5.5 7.5 960 84 0.77 2.1 6.5 2.1 69 76.5 44.9 

10 Y3-160M-6 17.2 16.3 15.8 7.5 10 970 86 0.77 2.0 6.5 2.1 73 106 81 

11 Y3-160L-6 24.5 23.3 22.4 11 15 970 87.5 0.78 2.0 6.5 2.1 73 122 116 

12 Y3-180L-6 31 .6 30.0 28.9 15 20 970 89 0.81 2.0 7.0 2.1 73 167 207 

13 Y3-200L1-6 38.6 36.6 35.3 18.5 25 980 90 0.81 2.1 7 2.1 76 236 315 

14 Y3-200L2-6 44.7 42.5 41.0 22 30 980 90 0.83 2.0 7 2.1 76 247 360 

15 Y3-225M-6 59.3 56.3 54.3 30 40 980 91.5 0.84 2.0 7 2.1 76 287 547 

16 Y3-250M-6 71 67.5 65.1 37 50 980 92 0.86 2.1 7 2.1 78 355 843 

17 Y3-280S-6 86 81.7 78.1 45 60 980 92.5 0.86 2.1 7 2 80 444 1390 

18 Y3-280M-6 104 99.5 95.9 55 75 980 92.8 0.86 2.1 7 2 80 498 1650 

19 Y3-315S-6 142 135 130 75 100 985 93.5 0.86 2.0 6.7 2 85 859 4110 

20 Y3-315M-6 169 161 155 90 1 25 985 93.8 0.86 2.0 6.7 2 85 950 4780 

21 Y3-315L1-6 207 196 189 110 150 985 94 0.86 2.0 6.7 2 85 1031 5450 

22 Y3-315L2-6 245 232 224 132 180 985 94.2 0.87 2.0 6.7 2 85 1107 6120 

23 Y3-355M1-6 292 278 268 160 220 990 94.5 0.88 1.9 6.7 2 92 1550 9500 

24 Y3-355M2-6 365 347 335 200 270 990 94.5 0.88 1.9 6.7 2 92 .1600 10400 

25 Y3-355L-6 457 434 418 250 340 990 94.5 0.88 1.9 6.7 2 92 1700 12400 



www.crm.co.th zyxwvutsrqponmlkjihgfedcbaZYXWVUTSRQPONMLKJIHGFEDCBACromp" tonzyxwvutsrqponmlkjihgfedcbaZYXWVUTSRQPONMLKJIHGFEDCBA Y3 

TECHNICAL DATA OF Y3 SERIES zyxwvutsrqponmlkjihgfedcbaZYXWVUTSRQPONMLKJIHGFEDCBA

Franm e 

referenc e 

and size 

Ful l loa d curren t 

at rate d voltag e 

Rate d 

powe r 

Full load sreed 
in revolution s 
per minut e 

Efficienc y 
Power 

facto r 

Direc t on 
ine 

startin g 
torqu e 
rati o 

Died on 
lin e 

startin g 
curren t 

rati o 

Direc t on 
lin e 

pul l out 
torqu e 
rati o 

Mean soun d 
pressur e 

leve l @ 1 m 
on no load 

Weigh t 

Roto r 

inerti a 

WK 2 

NO. 
Powe r 

Speed LRA BDT Nois e Weigh t J 

380V | 400V 415V kW HP r/mi n zyxwvutsrqponmlkjihgfedcbaZYXWVUTSRQPONMLKJIHGFEDCBA% CosO RLT RLA RLT LwdBIA I kg kgm' . IO 3 zyxwvutsrqponmlkjihgfedcbaZYXWVUTSRQPONMLKJIHGFEDCBA

Y3-

Y3-

V3-

Y3-

Y3-

Y3-

Y3-

8 Y3-

9 Y3-

10 Y3-

11 Y3-

12 Y3-

13 Y3-

14 Y3-

15 Y3-

16 Y3-

17 Y3-

1( Y3-

19 Y3-

20 Y3-

21 Y3-

22 Y3-

23 Y3-

24 Y3-

25 Y3 

26 Y3 

80M1-8 

80M2-8 

90S-8 

90L-8 

100L1-8 

100L2-8 

112M-8 

132S-8 

132M-8 

160M1- ! 

160M2-! 

160L-8 

180L-8 

200L-8 

225S-8 

• 225M-8 

250M-8 

280S-8 

280M-8 

315S-8 

315M-8 

315L1-8 

315L2-8 

355M1- : 

355M2-: 

355L-8 

0.88 

1.15 

1.49 

2.17 

2.43 

3.36 

4.4 

6.0 

7.8 

10.3 

13.6 

17.8 

25.5 

34.1 

41.1 

48.9 

63 

78 

94 

111 

150 

178 

217 

261 

315 

387 

0.84 

1.10 

1.41 

2.07 

2.31 

3.20 

4.18 

5.66 

7.41 

9.76 

12.9 

16.9 

24.2 

32.4 

39.0 

45.0 

60.2 

73.9 

89.4 

106 

143 

169 

206 

248 

299 

368 

0.80 

1.06 

1.36 

1.99 

2.22 

3.08 

4.03 

5.46 

7.15 

9.41 

12.5 

16.3 

23.3 

31.2 

37.6 

43.4 

58.1 

71.2 

86.1 

102 

138 

163 

199 

239 

288 

355 

0.18 0.25 

0.25 0.34 

0.37 0.5 

0.55 0.75 

0.75 1 

1.1 1.5 

1 .5 2 

2.2 

3 

4 

3 

4 

5.5 

5.5 7.5 

7.5 10 

11 15 

15 20 

18.5 25 

22 30 

30 40 

37 50 

45 60 

55 75 

75 100 

90 125 

110 150 

132 180 

160 220 

200 270 

645 

645 

675 

680 

680 

680 

690 

710 

710 

720 

720 

720 

730 

730 

730 

730 

735 

740 

740 

735 

735 

735 

735 

740 

740 

740 

51 

54 

62 

63 

70 

72 zyxwvutsrqponmlkjihgfedcbaZYXWVUTSRQPONMLKJIHGFEDCBA

74 

79 

80 

81 

83 

85.5 

87.5 

88 

90 

90.5 

91 

91.5 

92 

92.8 

93.5 

93.8 

94 

93.7 

94.2 

94.5 

0.61 

0.61 

0.61 

0.61 

0.67 

0.69 

0.70 

0.71 

0.73 

0.73 

0.74 

0.75 

0.75 

0.76 

.9 

.9 

.9 

2 

2 

0.76 1.9 

0.78 1.9 

0.79 1.9 

0.79 1.9 

0.79 1.9 

1.8 0.81 

0.81 

0.82 

0.82 

0.82 1 

0.82 1 

0.83 1 

1 .8 

1.8 

1.8 

3.3 

3.3 

4 

4 

4 

5 

5 

6 

6 

6 

6 

6 

6.5 

6.6 

6.6 

6.6 

6.5 

6.6 

6.6 

6.6 

6.2 

6.4 

6.4 

6.4 

6.4 

6.4 

1.9 

1.9 

' .9 

2 

2 

2 

2 

2 

2 

2 

2 

2 

2 

2 

2 

2 

2 

2 

2 

2 

2 

2 

2 

2 

2 

2 

52 

52 

56 

56 

59 

59 

61 

64 

64 

68 

68 

68 

70 

73 

73 

73 

75 

76 

76 

82 

82 

82 

82 

90 

90 

90 

1 5 

16 

20 

23 

29 

31 

41 

61 

74 

95.5 

107 

128 

169 

236 

274 

290 

370 

488 

563 

852 

933 

1027 

1117 

2000 

2150 

2250 

2.5 

3.0 

5.1 

6.5 

9.0 

11.0 

24.5 

31 4 

39.5 

75.3 

93.1 

126 

203 

339 

491 

547 

834 

1650 

1930 

4790 

5580 

6370 

7230 

7900 

10300 

12300 

16 



GU/ lNGLU zyxwvutsrqponmlkjihgfedcbaZYXWVUTSRQPONMLKJIHGFEDCBA

TECHNICAL DATA OF Y3 SERIES zyxwvutsrqponmlkjihgfedcbaZYXWVUTSRQPONMLKJIHGFEDCBA

Fu l l l o a d cu r r en t  

at  r a t ed v o l t a g e 

•>  ... Direct  on Di ect on Direct  on n / i „ ,„  „ „ . , „  A 
D „  Fu oadsreed n  .-  u " " ^ * " "  M e a n so u n d R a t e dzyxwvutsrqponmlkjihgfedcbaZYXWVUTSRQPONMLKJIHGFEDCBA r u i n i w u M w u Po w er ine l ine l ine 

in revolut ions Ef f i ci en cyzyxwvutsrqponmlkjihgfedcbaZYXWVUTSRQPONMLKJIHGFEDCBA c t a r r i n n , p r essu r e 
P ° w e r per minute »"«*«>r  f ^ *  s ^ " 1 ? P " " ° « r t l evel @1 m 

t orque cur rent  t or que  o n n o | o a d 

rat io rat io rat io 

1 Y3-

2 Y3-

3 Y3-

Y3-

5 Y3-

6 Y3-

7 Y3-

8 Y3-

9 Y3-

10 Y3-

11 Y3-

12 Y3-

13 Y3-

14 Y3-

15 Y3-

16 Y3-

17 Y3-

18 Y3-

19 Y3-

20 Y3-

21 Y3-

22 Y 3 -

23 Y3-

24 Y3-

100L1- 10 

100L2 - 10 

1 1 2 M1 - 1 0 

1 1 2 M2 - 1 0 

132S- 10 

1 3 2 M- 1 0 

1 6 0 M1 - 1 0 

1 6 0 M2 - 1 0 

1 8 0 M- 1 0 

180L- 10 

2 0 0 L1 - 1 0 

2 0 0 L2 - 1 0 

2 2 5 M1 - 1 0 

2 5 0 M2 - 1 0 

2 8 0 S- 1 0 

2 8 0 M1 - 1 0 

2 8 0 M2 - 1 0 

3 1 5 S- 1 0 

3 1 5 M- 1 0 

3 1 5 L1 - 1 0 

3 1 5 L2 - 1 0 

3 5 5 M1 - 1 0 

3 5 5 M2 - 1 0 

3 5 5 L- 1 0 

1.33 

1.89 

2.50 

3.30 

4.40 

5.70 

7.7 

10.2 

12.2 

16.2 

20.6 

30.0 

39.2 

48.1 

49.9 

67.7 

83.5 

100 

121 

162 

191 

230 

275 

334 

1.26 

I . 80 

2.37 

3.12 

4.20 

5.50 

7.3 

9.7 

I I . 5 

15.4 

19.5 

28.5 

37.2 

45.7 

47.4 

64.3 

79.3 

95 

115 

154 

181 

218 

261 

317 

1.22 0.25 0.34 

I . 73 0.37 0.5 

2.29 0.55 0.75 

3.01 0.75 1 

4.00 1.1 1.5 

5.20 1.5 2 

7.1 2.2 3 

9.4 3 4 

I I . 1 4 5.5 

14.9 5.5 7.5 

18.8 7.5 10 

27.5 11 15 

35.9 15 20 

44.1 18.5 25 

45.7 22 30 

62.0 30 40 

76.5 37 50 

91 45 60 

1 1 1 55 75 

148 75 100 

175 90 125 

211 110 150 

252 132 180 

305 160 220 

530 

530 

540 

540 

550 

565 

575 

575 

580 

580 

580 

580 

580 

580 

585 

585 

585 

590 

590 

590 

590 

590 

590 

590 

55.0 

56.0 

62.0 

63.0 

69.0 

71.0 

76.0 

77.0 

82.0 

83.0 

84.0 

84.5 

85.5 

86.0 

90.5 

91.0 

91.0 

91.5 

92.0 

92.5 

93.0 

93.2 

93.5 

93.5 

0.52 

0.53 

0.54 

0.55 

0.55 

0.56 

0.57 

0.58 

0.61 

0.62 

0.66 

0.66 

0.68 

0.68 

0.74 

0.74 

0.74 

0.75 

0.75 

0.76 

0.77 

0.78 

0.78 

0.78 

1.2 

1.2 

1.2 

1.2 

1 .2 

1.2 

1.3 

1.3 

1.3 

1.3 

1.3 

1.3 

1.3 

1.3 

1 .5 

1.5 

1.5 

1.5 

1.5 

1.5 

1 .5 

1.5 

1.5 

1.5 

3.2 

3.2 

3 . 4 

3.4 

3.6 

3.6 

4 . 0 

4.0 

4 . 0 

4.0 

4 . 5 

4.5 

4 . 5 

4.5 

5.2 

5.2 

5.2 

6.2 

6.2 

5.8 

5.9 

6.0 

6 . 0 

6.0 

1.7 

1.7 

1 .7 

1.7 

1.7 

1.7 

1.8 

1.8 

1.8 

1.8 

1.8 

1.8 

1.8 

1.8 

2.0 

2.0 

2.0 

2.0 

2.0 

2.0 

2.0 

2.0 

2.0 

2.0 

59 

59 

61 

61 

64 

64 

68 

68 

70 

70 

73 

73 

73 

73 

76 

76 

76 

82 

82 

82 

82 

90 

90 

90 

27.4 

4 4 . 2 

104. 

2 2 7 

548.9 

932.4 

1844.7 

2157.7 

5355.2 

6238.4 

7121.7 

8083. 

11515.4 

13751.4 zyxwvutsrqponmlkjihgfedcbaZYXWVUTSRQPONMLKJIHGFEDCBA

17 



www. crm. co. t h zyxwvutsrqponmlkjihgfedcbaZYXWVUTSRQPONMLKJIHGFEDCBACromp-bonzyxwvutsrqponmlkjihgfedcbaZYXWVUTSRQPONMLKJIHGFEDCBA Y3 

TECHNICAL DATA OF Y3 SERIES 

Fr anme 

r ef er ence 

and si ze 

Ful l  l oad cu r r en t  

at  r a t e d vo l t age 

Ra t e d 

p o w e r 

Full  load sreed 
in revolut ions 

per minut e 
Ef f i ci ency 

Pow er 

f ac t or 

Direct  on 
ine 

st ar t ing 
t orque 

rat io 

Di ed on 
l i ne 

st ar t i ng 
cur rent  

r at i o 

Direct  on 
l ine 

pul l  out  
t or que 

rat io 

Mean sound 
pr essur e 

l evel @1m 
o n no l oad 

Ro t o r 

i n e r t i a 

WK* 

1 Y3-100L1-12 1.55 1.47 1.42 0.25 0. 34 420 50. 0 0. 49 1.1 2.8 1.7 59 7. 4 

2 Y3-100L2-12 2.21 2. 10 2.02 0.37 0.5 425 52. 0 0. 49 1zyxwvutsrqponmlkjihgfedcbaZYXWVUTSRQPONMLKJIHGFEDCBA.1 2.8 1.7 59 10. 3 

3 Y3-112M1-12 3.01 2. 84 2. 74 0.55 0.75 435 57. 0 0. 49 1.1 3. 2 1.7 61 12. 6 

4 Y3-132S1-12 3.60 3.40 3.30 0.75 1 440 63. 0 0. 50 1.1 3. 4 1 .7 61 28 

5 Y3-132S2-12 5.10 4. 90 4. 70 1.1 1.5 450 65. 0 0. 50 1.1 3. 4 1.7 64 35. 9 

6 Y3- 132M- 12 6. 70 6. 30 6. 10 1.5 2 460 68. 0 0. 50 1.1 3.5 1.7 64 45. 2 

7 Y3- 160M- 12 9.0 8.5 8.2 2.2 3 465 74. 0 0. 50 1.1 4. 0 1.8 68 86. 1 

8 Y3-160L-12 12.2 11.6 11.2 3 4 470 74. 5 0. 50 1.1 4. 0 1.8 68 106. 5 

9 Y3-180L1-12 14.1 13. 4 12. 9 4 5.5 470 78. 0 0. 55 1.2 4. 0 1.8 111170 
144. 1 

10 Y3-180L2-12 18.5 17.6 16.9 5.5 7.5 475 79. 0 0. 57 1.2 4. 0 1 .8 70 232. 2 

11 Y3-200L1-12 24. 2 23. 0 22. 2 7.5 10 475 81: 0 0. 58 1.2 4. 5 1.8 73 387. 7 

12 Y3-225M1-12 33. 1 31. 5 30. 3 11 15 480 84. 0 0. 60 1.2 4. 5 1.8 73 561. 6 

13 Y3-225M2-12 44. 7 42. 4 40. 9 15 20 480 85. 0 0. 60 1.2 4. 5 1.8 73 625. 6 

14 Y3- 250M- 12 53. 0 50. 3 48. 5 18.5 25 480 85. 5 0. 62 1.2 4. 5 1.8 73 953. 9 

15 Y3-280S-12 60. 0 57. 0 55. 0 22 30 485 87. 0 0. 64 1.2 4. 5 1.8 76 1887. 1 

16 Y3- 280M- 12 80. 1 76.1 73. 3 30 40 485 87. 5 0. 65 1.2 4. 5 1.8 76 2207. 4 

17 Y3-315S-12 93. 2 88. 5 85. 3 37 50 485 90. 0 0. 67 1.2 4. 5 1.5 76 5478. 4 

18 Y3- 315M- 12 112. 8 107. 1 103. 2 45 60 485 90. 5 0. 67 1.2 4. 5 1.5 82 6381. 9 

19 Y3-315L1-12 137. 3 130. 5 125. 8 55 75 485 90. 8 0. 67 1.2 4. 5 1.5 82 7285. 5 

20 Y3-315L2-12 186. 9 177. 6 171. 1 75 100 485 91. 0 0. 67 1.2 4. 5 1.5 82 8269. 1 

21 Y3- 355M1- 12 212. 3 201. 7 194. 4 90 125 4 9 0 92. 0 0. 70 1.2 4. 5 1.7 82 10410 

22 Y3-355M2-12 258. 4 245. 4 236. 6 110 150 490 92. 4 0. 70 1.2 4. 5 1.7 90 1 1780. 3 

23 Y3-355L-12 309. 4 293. 9 283. 3 132 180 490 92. 6 0. 70' 1.2 4. 5 1.7 90 14067. 7 

18 



TECHNICAL DATA OF Y3 SERIES zyxwvutsrqponmlkjihgfedcbaZYXWVUTSRQPONMLKJIHGFEDCBA

1 Y3-112M1-16 1.52 1.44 1.39 0.25 0.34 310 48.0 0.47 0.9 2.5 1.6 61 28.5 

2 Y3-112M2-16 2.34 2.22 2.14 0.37 0.5 315 48.5 0.47 0.9 2.5 1 6 64 36.6 

3 Y3-132M-16 3.2 3.0 2.9 0.55 0.75 330 54.0 0.48 0,9 2.7 1 6 64 46 

4 Y3-160M1-16 3.8 3.6 3.4 0.75 1 340 62.0 0.48 0.9 2.8 1 6 68 87.7 

5 Y3-160M2-16 5.4 5.1 4.9 1.1 1.5 345 64.0 0.48 0.9 2.8 1 6 68 108.4 

6 Y3-160L-16 7.1 6.7 8.5 1.5 2 345 66.0 0.48 0.9 2.8 1 6 70 146.7 

7 Y3-180M-16 9.4 8.9 8.6 2.2 3 350 71.5 0.49 0.9 3.2 1 6 70 0.2364 

8 Y3-180L-16 12.8 12.1 1 1.7 3 4 355 72.0 0.49 0.9 3.2 1 6 73 394.8 

9 Y3-200L1-16 16.4 15.6 15.0 4 5.5 355 74.0 0.50 0.9 3.2 1 6 73 571.8 74.0 0.50 0.9 3.2 1 73 571.8 

10 Y3-200L2-16 22.1 21.0 20.2 5.5 7.5 355 75.0 0.50 0.9 3.2 1 6 73 637 

11 Y3-225S-16 28.4 26.9 26.0 7.5 10 360 78.0 0.51 0.9 3.5 1 6 73 971.2 

12 Y3-250M-16 39.4 37.4 35.7 11 15 360 80.0 0.53 0.9 3.5 1 6 76 1921.5 

13 Y3-280M-16 49.8 47.3 45.6 15 20 360 82.0 0.55 1.0 3.5 1 .6 76 2247.5 

14 Y3-315S-16 57.6 54.7 52.7 18.5 25 365 86.0 0.56 1 .0 3.5 1 6 76 5578.1 

15 Y3-315M-16 68.1 64.6 62.3 22 30 365 87.0 0.56 1.0 3.5 1 .6 82 6498.1 

16 Y3-315L1-16 91.7 87.1 83.9 30 40 365 88.0 0.56 1.0 3.5 1 6 82 7418.1 

17 Y3-315L2-16 112 106 102 37 50 365 88.0 0.56 1.0 3.5 1 6 82 8419.5 

1 



w w w . cr m. co. t h zyxwvutsrqponmlkjihgfedcbaZYXWVUTSRQPONMLKJIHGFEDCBACromp-tonzyxwvutsrqponmlkjihgfedcbaZYXWVUTSRQPONMLKJIHGFEDCBA Y 3 zyxwvutsrqponmlkjihgfedcbaZYXWVUTSRQPONMLKJIHGFEDCBA

MOUNTING DATA FOR Y3 

Frame with feet and end-shield without flange(IM B3) zyxwvutsrqponmlkjihgfedcbaZYXWVUTSRQPONMLKJIHGFEDCBA
FRAME 

SIZE POLES zyxwvutsrqponmlkjihgfedcbaZYXWVUTSRQPONMLKJIHGFEDCBA•  zyxwvutsrqponmlkjihgfedcbaZYXWVUTSRQPONMLKJIHGFEDCBA
.. zyxwvutsrqponmlkjihgfedcbaZYXWVUTSRQPONMLKJIHGFEDCBA

H 0 D E9 •  H 
80M 2 4 6 8 125 62.5 100 50 19 40 6 15.5 80 10 165 155 145 220 295 M6X16 

90S 2 4 6 8 140 70 100 56 24 50 8 20 90 10 180 175 155 250 320 M8X19 
90L 2 4 6 8 140 70 125 56 24 50 8 20 90 H i 180 175 155 250 345 M8X19 

100L 2 4 6 8 160 80 140 63 28 60 8 24 100 12 205 196 180 270 385 M10X22 

112M 2 4 6 8 190 95 140 70 28 60 Hi 24 112 HH 230 220 190 300 400 Ml 0X22 

132S 2 4 6 8 216 108 140 89 38 80 10 33 .  132 12 270 259 210 345 470 M12X28 

132M 2 4 6 8 216 108 178 89 38 80 10 33 132 H i 270 259 210 345 510 M12X28 

160M 2 4 6 8 254 127 210 108 42 110 12 37 160 15 320 315 255 420 615 Ml 6X36 

160L 2 4 6 8 254 127 254 108 42 110 HI 37 160 15 320 315 255 420 660 M16X36 

180M 2 4 6 8 279 139.5 241 121 48 110 14 42.5 180 15 355 355 280 455 700 M16X36 

180L 2 4 6 8 279 139.5 279 121 48 110 14 42.5 180 15 355 355 280 455 740 M16X36 

200L 2 4 6 8 318 159 305 133 55 110 16 49 200 19 395 397 305 505 770 M20X42 

225S 4 8 356 178 286 149 60 140 18 53 225 19 435 445 335 560 815 M20X42 

225M 2 356 178 311 149 55 110 16 49 225 19 435 445 335 560 820 M20X42 

4 6 8 356 178 311 149 60 140 18 53 225 19 435 445 335 560 845 M20X42 

250M 2 406 203 349 168 60 140 18 53 250 24 490 485 370 615 920 M20X42 

4 6 8 406 203 349 168 65 140 18 58 250 24 490 485 370 615 920 M20X42 

280S 2 457 228.5 368 190 65 140 18 58 280 24 550 547 410 680 995 M20X42 

4 6 8 457 228. 5 368 190 75 140 20 67.5 280 24 550 547 410 680 995 M20X42 

280M 2 457 228. 5 419 190 65 140 18 58 280 24 550 547 410 680 1045 M20X42 

4 6 8 457 228. 5 419 190 75 140 20 67.5 280 24 550 547 410 680 1045 M20X42 

315S 2 508 254 406 216 65 140 18 58 315 28 635 620 530 845 1185 M20X42 

4 6 8 10 508 254 406 216 80 170 22 71 315 28 635 620 530 845 1220 M20X42 

315M 2 508 254 457 216 65 140 18 58 315 28 635 620 530 845 1290 M20X42 

4 6 8 10 508 254 457 216 80 170 22 71 315 28 635 620 530 845 1325 M20X42 

315L 2 508 254 508 216 65 140 18 58 315 28 635 620 530 845 1290 M20X42 

4 6 8 10 508 254 508 216 80 170 22 MM 315 28 635 620 530 845 1325 M20X42 

355M 2 610 305 560 254 75 140 20 67.5 355 28 730 698 655 1010 1500 M20X42 

4 6 8 10 610 305 560 254 95 170 25 86 355 28 730 698 655 1010 1530 M20X42 

355L 2 610 305 630 254 75 140 20 67.5 355 28 730 698 655 1010 1500 M20X42 

4 6 8 10 610 305 630 254 95 170 25 86 355 28 730 698 655 1010 1530 M20X42 



GU/ lM GLf / zyxwvutsrqponmlkjihgfedcbaZYXWVUTSRQPONMLKJIHGFEDCBA

MOUNTING DATA FOR Y3 zyxwvutsrqponmlkjihgfedcbaZYXWVUTSRQPONMLKJIHGFEDCBA

80-132 zyxwvutsrqponmlkjihgfedcbaZYXWVUTSRQPONMLKJIHGFEDCBA

its. zyxwvutsrqponmlkjihgfedcbaZYXWVUTSRQPONMLKJIHGFEDCBA

• nor 

80-132 

) 

00 zyxwvutsrqponmlkjihgfedcbaZYXWVUTSRQPONMLKJIHGFEDCBA

DH 

160-355 160-355 

FRAME WITH FEET AND END-SHIELD WITH FLANGE(IM B35) 

FRAME 
SIZE D zyxwvutsrqponmlkjihgfedcbaZYXWVUTSRQPONMLKJIHGFEDCBA

•  S Q FLANGE 
HOLES A B M i DH*  

80M 2 4 6 8 125 62.5 100 50 19 40 6 15.5 80 10 165 130 200 12 3.5 4 165 155 145 220 295 M6X16 

90S 2 4 6 8 140 70 100 56 24 50 8 20 90 10 165 130 200 12 3.5 zyxwvutsrqponmlkjihgfedcbaZYXWVUTSRQPONMLKJIHGFEDCBA•-'V ' 180 176 155 250 320 M8X19 

90L 2 4 6 8 140 70 1 25 56 24 50 8 20 90 10 165 130 200 12 3.5 4 180 175 1 55 250 345 M8X19 

100L 2 4 6 8 160 80 140 63 28 60 8 24 100 12 215 180 250 15 4 HHI 205 196 180 270 38S M10X22 

112M 2 4 6 8 190 95 140 70 28 60 8 24 112 12 215 180 250 15 4 4 230 220 190 300 400 M10X22 

132S 2 4 6 8 216 108 140 89 38 80 10 33 132 12 265 230 300 14.5 4 4 270 259 210 345 470 M12X28 

132M 2 4 6 8 216 108 178 89 38 80 10 33 132 12 265 230 300 14.5 4 4 270 259 210 345 510 M12X28 

160M 2 4 6 8 254 HH 210 108 42 110 12 37 160 15 300 250 350 19 zyxwvutsrqponmlkjihgfedcbaZYXWVUTSRQPONMLKJIHGFEDCBA£ '  4 320 315 255 420 615 M16X36 

160L 2 4 6 8 254 127 254 108 42 110 12 37 160 15 300 250 350 1 5 4 320 315 255 420 660 Ml 6X36 

180M 2 4 6 8 279 139.5 241 121 48 110 14 42.5 180 15 300 250 350 19 HH 4 355 355 280 455 700 M16X36 

180L 2 4 6 8 279 139.5 279 121 48 110 14 42.5 180 1 5 300 250 350 19 5 4 355 355 280 455 740 Ml 6X36 

200L 2 4 68 318 159 305 133 55 110 16 49 200 19 350 250 400 19 5 4 395 397 305 505 770 M20X42 

225S 48 356 178 286 149 60 140 18 53 225 19 400 300 450 19 5 8 435 445 335 560 815 M20X42 

225M 2 356 178 311 149 55 110 16 49 225 19 400 350 450 19 HH 8 435 445 335 560 520 M20X42 

4 6 8 356 178 311 149 60 140 18 53 225 19 400 350 450 19 5 8 435 445 335 560 845 M20X42 

250M 2 406 203 349 168 60 140 18 523 250 24 500 350 550 19 'HH 8 •  490 485 370 615 920 M20X42 

4 6 8 406 203 349 168 65 140 18 58 250 24 500 450 550 19 5 8 490 485 370 615 920 M20X42 

280S 457 228. 5 358 190 65 140 18 58 280 24 500 450 550 19 HH 8 550 547 410 680 995 M20X42 

4 6 8 457 228.5 358 190 75 140 20 67.5 280 24 500 450 550 19 5 8 550 547 410 680 995 M20X42 

280M HHi 457 228.5 419 190 65 140 18 58 280 24 500 450 550 19 s 8 550 547 410 680 1045 M20X42 

4 68 457 228.5 419 190 75 140 20 67.5 280 24 500 450 550 19 5 8 550 547 410 680 1045 M20X42 

315S 2 508 254 406 216 65 140 18 58 315 28 600 450 660 24 6 8 635 620 530 845 1185 M20X42 

4 6 8 10 508 254 406 216 80 170 22 71 315 28 600 550 660 24 6 8 635 620 530 845 1220 M20X42 

315M HH 508 254 457 216 65 140 18 58 315 28 600 550 660 24 IHH 8 635 620 530 845 1290 M20X42 

4 6 8 10 508 254 457 216 80 170 22 71 315 28 600 550 660 24 6 8 635 620 530 845 1325 M20X42 

315L 2 508 254 508 216 65 140 18 58 315 28 600 550 660 24 6 8 635 620 530 845 1290 M20X42 

4 68 10 508 254 508 216 80 170 22 71 315 28 600 550 660 24 6 8 635 620 530 84 5 1325 M20X42 

355M 2 610 305 560 254 75 140 20 67.5 355 28 740 680 800 24 IHH 8 730 698 655 1010 1500 M20X42 

4 68 10 610 305 560 254 95 170 25 86 355 28 740 680 800 24 6 8 730 698 655 1010 1 530 M20X42 

355L 2 610 305 630 254 75 140 20 67.5 355 28 740 680 800 24 IHH 8 730 698 655 1010 1500 M20X42 

4 6 8 10 610 305 630 254 95 170 25 86 355 28 740 680 800 24 6 8 730 698 655 1010 1530 M20X42 

21 



GU/ lM GLf / zyxwvutsrqponmlkjihgfedcbaZYXWVUTSRQPONMLKJIHGFEDCBA

MOUNTING DATA FOR Y3 zyxwvutsrqponmlkjihgfedcbaZYXWVUTSRQPONMLKJIHGFEDCBA

80-132 zyxwvutsrqponmlkjihgfedcbaZYXWVUTSRQPONMLKJIHGFEDCBA

its. zyxwvutsrqponmlkjihgfedcbaZYXWVUTSRQPONMLKJIHGFEDCBA

• nor 

80-132 

) 

00 zyxwvutsrqponmlkjihgfedcbaZYXWVUTSRQPONMLKJIHGFEDCBA

DH 

160-355 160-355 

FRAME WITH FEET AND END-SHIELD WITH FLANGE(IM B35) 

FRAME 
SIZE D zyxwvutsrqponmlkjihgfedcbaZYXWVUTSRQPONMLKJIHGFEDCBA

•  S Q FLANGE 
HOLES A B M i DH*  

80M 2 4 6 8 125 62.5 100 50 19 40 6 15.5 80 10 165 130 200 12 3.5 4 165 155 145 220 295 M6X16 

90S 2 4 6 8 140 70 100 56 24 50 8 20 90 10 165 130 200 12 3.5 zyxwvutsrqponmlkjihgfedcbaZYXWVUTSRQPONMLKJIHGFEDCBA•-'V ' 180 176 155 250 320 M8X19 

90L 2 4 6 8 140 70 1 25 56 24 50 8 20 90 10 165 130 200 12 3.5 4 180 175 1 55 250 345 M8X19 

100L 2 4 6 8 160 80 140 63 28 60 8 24 100 12 215 180 250 15 4 HHI 205 196 180 270 38S M10X22 

112M 2 4 6 8 190 95 140 70 28 60 8 24 112 12 215 180 250 15 4 4 230 220 190 300 400 M10X22 

132S 2 4 6 8 216 108 140 89 38 80 10 33 132 12 265 230 300 14.5 4 4 270 259 210 345 470 M12X28 

132M 2 4 6 8 216 108 178 89 38 80 10 33 132 12 265 230 300 14.5 4 4 270 259 210 345 510 M12X28 

160M 2 4 6 8 254 HH 210 108 42 110 12 37 160 15 300 250 350 19 zyxwvutsrqponmlkjihgfedcbaZYXWVUTSRQPONMLKJIHGFEDCBA£ '  4 320 315 255 420 615 M16X36 

160L 2 4 6 8 254 127 254 108 42 110 12 37 160 15 300 250 350 1 5 4 320 315 255 420 660 Ml 6X36 

180M 2 4 6 8 279 139.5 241 121 48 110 14 42.5 180 15 300 250 350 19 HH 4 355 355 280 455 700 M16X36 

180L 2 4 6 8 279 139.5 279 121 48 110 14 42.5 180 1 5 300 250 350 19 5 4 355 355 280 455 740 Ml 6X36 

200L 2 4 68 318 159 305 133 55 110 16 49 200 19 350 250 400 19 5 4 395 397 305 505 770 M20X42 

225S 48 356 178 286 149 60 140 18 53 225 19 400 300 450 19 5 8 435 445 335 560 815 M20X42 

225M 2 356 178 311 149 55 110 16 49 225 19 400 350 450 19 HH 8 435 445 335 560 520 M20X42 

4 6 8 356 178 311 149 60 140 18 53 225 19 400 350 450 19 5 8 435 445 335 560 845 M20X42 

250M 2 406 203 349 168 60 140 18 523 250 24 500 350 550 19 'HH 8 •  490 485 370 615 920 M20X42 

4 6 8 406 203 349 168 65 140 18 58 250 24 500 450 550 19 5 8 490 485 370 615 920 M20X42 

280S 457 228. 5 358 190 65 140 18 58 280 24 500 450 550 19 HH 8 550 547 410 680 995 M20X42 

4 6 8 457 228.5 358 190 75 140 20 67.5 280 24 500 450 550 19 5 8 550 547 410 680 995 M20X42 

280M HHi 457 228.5 419 190 65 140 18 58 280 24 500 450 550 19 s 8 550 547 410 680 1045 M20X42 

4 68 457 228.5 419 190 75 140 20 67.5 280 24 500 450 550 19 5 8 550 547 410 680 1045 M20X42 

315S 2 508 254 406 216 65 140 18 58 315 28 600 450 660 24 6 8 635 620 530 845 1185 M20X42 

4 6 8 10 508 254 406 216 80 170 22 71 315 28 600 550 660 24 6 8 635 620 530 845 1220 M20X42 

315M HH 508 254 457 216 65 140 18 58 315 28 600 550 660 24 IHH 8 635 620 530 845 1290 M20X42 

4 6 8 10 508 254 457 216 80 170 22 71 315 28 600 550 660 24 6 8 635 620 530 845 1325 M20X42 

315L 2 508 254 508 216 65 140 18 58 315 28 600 550 660 24 6 8 635 620 530 845 1290 M20X42 

4 68 10 508 254 508 216 80 170 22 71 315 28 600 550 660 24 6 8 635 620 530 84 5 1325 M20X42 

355M 2 610 305 560 254 75 140 20 67.5 355 28 740 680 800 24 IHH 8 730 698 655 1010 1500 M20X42 

4 68 10 610 305 560 254 95 170 25 86 355 28 740 680 800 24 6 8 730 698 655 1010 1 530 M20X42 

355L 2 610 305 630 254 75 140 20 67.5 355 28 740 680 800 24 IHH 8 730 698 655 1010 1500 M20X42 

4 6 8 10 610 305 630 254 95 170 25 86 355 28 740 680 800 24 6 8 730 698 655 1010 1530 M20X42 

21 



www.crm.co zyxwvutsrqponmlkjihgfedcbaZYXWVUTSRQPONMLKJIHGFEDCBA.t h zyxwvutsrqponmlkjihgfedcbaZYXWVUTSRQPONMLKJIHGFEDCBACromp-tonzyxwvutsrqponmlkjihgfedcbaZYXWVUTSRQPONMLKJIHGFEDCBA Y3  

MOUNTING DATA FOR Y3 

160-355 

FRAME WITHOUT FEET AND END-SHIELD 
WITH FLANGE(IM B5) 

FRAM E 

SIZE 
POLES D E zyxwvutsrqponmlkjihgfedcbaZYXWVUTSRQPONMLKJIHGFEDCBA

.zyxwvutsrqponmlkjihgfedcbaZYXWVUTSRQPONMLKJIHGFEDCBA \ 

F G M N P S T 
FLANG E 

HOLES i 
AC A D HF L D H * 

80M 2 4 6 8 19 40 6 15.5 165 130 200 12 3.5 4 155 145 185 295 M6X16 

90S 2 4 6 8 24 50 8 20 165 130 200 12 3.5 4 175 155 195 320 M8X19 

90L 2 4 6 8 24 50 8 20 165 130 200 12 3.5 4 175 155 195 345 M8X19 

100L 2 4 6 8 28 60 8 24 215 180 250 15 4 4 196 180 245 385 M10X22 

112M 2 4 6 8 28 60 8 24 230 180 250 15 4 zyxwvutsrqponmlkjihgfedcbaZYXWVUTSRQPONMLKJIHGFEDCBA4  220 190 265 400 M10X22 

132S 2 4 6 8 38 80 10 33 265 230 300 15 4 4 259 210 315 470 M12X28 

132M 2 4 6 8 38 80 10 33 265 230 300 15 4 4 259 210 315 510 M12X28 

160M 2 4 6 8 42 110 12 37 300 250 350 19 5 4 315 255 385 615 M16X36 

160L 2 4 6 8 42 110 12 37 300 250 350 19 5 zyxwvutsrqponmlkjihgfedcbaZYXWVUTSRQPONMLKJIHGFEDCBA•s"*: 315 255 385 660 M16X36 160L 2 4 6 8 

180M 2 4 6 8 48 1 10 14 42.5 300 250 350 19 5 4 355 280 430 700 M16X36 

180L 2 4 6 8 48 110 14 42.5 300 250 350 19 5 355 280 430 740 M16X36 

200L 2 4 6 8 55 110 16 49 350 300 400 19 5 4 397 305 480 770 M20X42 

225S 4 8 60 140 18 53 400 350 450 19 5 8 445 335 535 815 M20X42 

225M 2 55 110 16 49 400 350 450 19 5 8 445 335 535 820 M20X42 

4 6 8 60 140 18 53 400 350 450 19 5 8 445 335 535 845 M20X42 

250M 2 60 140 18 53 500 450 550 19 5 8 485 370 595 920 M20X42 

4 6 8 65 140 18 58 500 450 550 19 5 8 485 370 595 920 M20X42 

280S 2 65 140 18 58 500 450 550 19 5 8 547 410 650 995 M20X42 

4 6 8 75 140 20 67.5 500 450 550 19 8 547 410 650 995 M20X42 

280M 2 65 140 18 58 500 450 550 19 5 8 547 410 650 1045 M20X42 

4 6 8 75 140 20 67.5 500 450 550 19 5 8 547 410 650 1045 M20X42 

22 



GU/iMGLU zyxwvutsrqponmlkjihgfedcbaZYXWVUTSRQPONMLKJIHGFEDCBA

(MizyxwvutsrqponmlkjihgfedcbaZYXWVUTSRQPONMLKJIHGFEDCBA>n) 

MOUNTING DATA FOR Y3 

FRAME WITH FEET AND END-SHIELD 
WITH FLANGE (IM B34) zyxwvutsrqponmlkjihgfedcbaZYXWVUTSRQPONMLKJIHGFEDCBA

HHHflBHBHBflHHHHHBPSHHB B 
80 2 4 6 8 125 62.5 100 50 19 40 6 15.5 80 10 100 80 120 0 M6 3.0 4 165 155 145 214 295 

90S 2 4 6 8 140 70 100 56 24 50 3 20 90 10 115 95 140 0 M8 3.0 4 180 175 155 250 320 

90L 2 4 6 8 140 70 125 56 24 50 3 20 90 10 115 95 140 0 M8 3.0 4 180 175 155 250 345 

100L 2 4 6 8 160 80 140 63 28 60 3 24 100 12 130 110 160 0 M8 3.5 4 205 196 180 270 385 

112M 2 4 6 8 190 95 140 70 28 60 3 24 112 12 130 110 160 0 M8 4 4 230 220 190 300 400 

132S 2 4 6 8 216 108 140 89 38 80 10 33 132 12 165 130 200 0 M10 4 4 270 259 210 345 470 

132M 2 4 6 8 216 108 178 89 38 80 10 33 132 12 165 130 200 0 M10 4 4 270 259 210 345 510 

23 



www.c rm .co . t h zyxwvutsrqponmlkjihgfedcbaZYXWVUTSRQPONMLKJIHGFEDCBACrompt^onzyxwvutsrqponmlkjihgfedcbaZYXWVUTSRQPONMLKJIHGFEDCBA Y3  

MOUNTING DATA FOR Y3 
FRAME WITHOUT FEET AND END-SHIELD WITHOUT FLANGE (IM B14) zyxwvutsrqponmlkjihgfedcbaZYXWVUTSRQPONMLKJIHGFEDCBA

1 zyxwvutsrqponmlkjihgfedcbaZYXWVUTSRQPONMLKJIHGFEDCBA1 •  D F G M N P R* s T FLANGE 
HOLES 

AC AD HF L 

80 2 4 6 8 19 40 6 15.5 100 80 120 0 M6 3.0 4 155 145 185 295 

90S 2 4 6 8 24 50 8 20 115 95 140 0 M8 3.0 4 175 155 195 320 

90L 2 4 6 8 24 50 8 20 115 95 140 0 M8 3.0 4 175 155 195 345 

100L 2 4 6 8 28 60 8 24 130 110 160 0 M8 3.5 4 196 180 245 385 

112M 2 4 6 8 28 60 8 24 130 110 160 0 M8 3.5 4 220 190 265 400 

132S 2 4 6 8 38 80 10 33 165 130 200 0 M10 3.5 4 259 210 315 470 

132M 2 4 6 8 38 80 10 33 165 130 200 0 M10 3.5 4 259 210 315 510 

24 



%W zyxwvutsrqponmlkjihgfedcbaZYXWVUTSRQPONMLKJIHGFEDCBA
G U / I N G L U zyxwvutsrqponmlkjihgfedcbaZYXWVUTSRQPONMLKJIHGFEDCBA

FRAM E TYPE, FRAM E WITHOUT FEET AN D END SHIELD 
WITH FLANG E (WITH PLAI N HOLES ) (IM V1) zyxwvutsrqponmlkjihgfedcbaZYXWVUTSRQPONMLKJIHGFEDCBA

0 A C 

FRAME 
SIZE POLES D E F M N P s T FLANG E 

HOLES AC AD HF L zyxwvutsrqponmlkjihgfedcbaZYXWVUTSRQPONMLKJIHGFEDCBA

160M 2 4 6 8 42 110 12 300 250 350 19 5 4 315 255 455 695 

160L 2 4 6 8 42 110 12 300 250 350 19 5 4 315 255 455 740 

180M 2 4 6 8 48 110 14 300 250 350 19 5 4 355 280 500 790 

180L 2 4 6 8 48 110 14 300 250 350 19 5 4 355 280 500 830 

200L 2 4 6 8 55 110 16 350 300 400 19 5 4 397 305 550 860 

225S 4 8 60 140 18 400 350 450 19 5 8 445 335 610 905 

225M 2 55 110 16 400 350 450 19 5 8 445 335 610 910 

4 6 8 60 140 18 400 350 450 19 5 8 445 335 610 935 

250M 2 60 140 18 500 450 550 19 5 8 485 370 650 1015 

4 6 8 65 140 18 500 450 550 19 5 8 485 370 650 1015 

280S 2 65 140 18 500 450 550 19 5 8 547 410 720 1110 

4 6 8 75 140 20 500 450 550 19 5 8 547 410 720 1110 

280M 2 65 140 18 500 450 550 19 5 8 547 410 720 1150 

4 6 8 75 140 20 500 450 550 19 5 8 547 410 900 1150 

315S 2 65 140 18 600 550 660 24 6 8 620 530 900 1280 

4 6 8 10 80 170 22 600 550 660 24 6 8 620 530 900 1310 

315M 2 65 140 18 600 550 660 24 6 8 620 530 900 1380 

4 6 8 10 80 170 22 600 550 660 24 6 620 530 900 1430 

315L 2 65 140 18 600 550 660 24 6 8 620 530 900 1380 

4 6 8 10 80 170 22 600 550 660 24 6 8 620 530 900 1430 

355M 2 75 140 20 740 680 800 24 6 8 698 655 1010 1640 

4 6 8 10 95 170 25 740 680 800 24 6 8 698 655 1010 1670 

355L 2 75 140 20 740 680 800 24 6 8 698 655 1010 1640 

4 6 8 10 95 170 25 740 680 800 24 6 8 698 655 1010 1670 

25 



www.crm.co.th zyxwvutsrqponmlkjihgfedcbaZYXWVUTSRQPONMLKJIHGFEDCBACromp-tonzyxwvutsrqponmlkjihgfedcbaZYXWVUTSRQPONMLKJIHGFEDCBA Y 3 zyxwvutsrqponmlkjihgfedcbaZYXWVUTSRQPONMLKJIHGFEDCBA

IM B3 H400-450 
MOUNTING AN D OVERAL L DIMENSIONS O F I M B 3 H400-450 

o o o zyxwvutsrqponmlkjihgfedcbaZYXWVUTSRQPONMLKJIHGFEDCBA

3-M72X1.5 

2-M30X1.5 

00 zyxwvutsrqponmlkjihgfedcbaZYXWVUTSRQPONMLKJIHGFEDCBA

T yp e Mount in g Dinension s Overal l  Dimension s 

Pole s A A A A B A C B1  B B C D D H 
[ •  

F G H H A H D K L A D E y e b o i t  X Y 

400L 4 0)110 210 28 100 1925 

400L 6/ 8/ 10 686 125 810 855 710 1090 280 <B120 M24X54 210 32 109 400 30 1080 (636 1925 430 2xM36 430 540 225 

450L 4 ©130 210 32 119 2200 

450L 4/ 6/ 8/ 10 800 190 1000 930 1000 1300 300 O140 M24X54 210 32 129 450 52 1380 <D42 2200 480 2xM36 500 595 410 

IM B3 5 H400-450 
MOUNTING AN D OVERAL L DIMENSIONSOF IM B35 H400-450 

3-M72X1.5 

Mount in g Dinension s Overal l  Dimension s 

Type Poles A AA AB A C B1 BB C D E F H HA HD DH K L M N P S T Eyeboi t X Y 

4 0 0 L 4 O1 1 0 210 2 8 1925 

4 0 0 L 6 / 8 / 10 686 125 8 1 0 8 5 5 7 1 0 1 0 9 0 2 8 0 9>120 2 1 0 2 8 4 0 0 30 1 0 8 0 M2 4 X5 4 <t>36 1 9 2 5 940 880 1 0 0 0 8x<D28 6 2xM3 6 430 540 225 

4 5 0 L 4 800 190 1000 930 1000 1300 300 ® 1 3 0 210 32 450 52 1380 <D42 2200 1080 1000 1150 8x<D28 6 2xM36 500 595 410 

4 5 0 L 6 / 8 / 10 zyxwvutsrqponmlkjihgfedcbaZYXWVUTSRQPONMLKJIHGFEDCBAWmwKm  0140 32 
M2 4 X5 4 2 2 0 0 

26 



I M V 1 H400-450 
MOUNTING AN D OVERAL L DIMENSIONSOF zyxwvutsrqponmlkjihgfedcbaZYXWVUTSRQPONMLKJIHGFEDCBA

400L 4 $ 1 1 0 210 28 100 1925 2025 

400L 6 , 8 , 10 855 + 120 210 28 100 400 1180 M24X54 1925 2025 940 880 1000 8xc zyxwvutsrqponmlkjihgfedcbaZYXWVUTSRQPONMLKJIHGFEDCBA(J 28 6 4 x M 3 6 430 540 225 400L 6 , 

450L 4 930 <t>130 210 32 119 450 1380 2200 2300 1080 1000 1150 8x< |> 28 6 4 x M 3 6 500 595 410 

450L 6 , 8 , 10 <t>U0 210 32 129 M24X54 2200 2300 • •  

TECHNICAL DAT A OF H400-450 SERIES 
. . . . . . . . . . zyxwvutsrqponmlkjihgfedcbaZYXWVUTSRQPONMLKJIHGFEDCBA

Pi it)zyxwvutsrqponmlkjihgfedcbaZYXWVUTSRQPONMLKJIHGFEDCBA t A a r l •  
re fe re nc e 

F u l l l o a d 
c u r r e n t a t 

r u n l o a d 

sree d i n 
D i re c t o n in e 

s t a r t i n g zyxwvutsrqponmlkjihgfedcbaZYXWVUTSRQPONMLKJIHGFEDCBA
Oh 

i 
set o n l in e 
. t a r t i n a 

O i r e c t o n l i n e 
pu l l o u t 

M e a n s o u n d 
p r e s s u r e •  a n d siz e 

r a t e d 
v o l t a g e 

revolution s 
pe r minut e B t o r q u e r a t i o c u r r e n t r a t i o to i rqu e r a t i o l « v e ! @ 1 * r t © « 

n o t o a d •  
4 0 0 1 1 - 4 zyxwvutsrqponmlkjihgfedcbaZYXWVUTSRQPONMLKJIHGFEDCBA

• • I 
450 792 1490 96.3 0.89 1.7 6.8 105 380 

2 4 0 0 L 2 - 4 500 878 1490 96.3 0.89 1.7 6.8 2.2 105 380 

3 4 0 0 L 3 - 4 560 978 1490 96.3 0.89 1.7 6 .3 2 2 108 380 



www.crm.co.thzyxwvutsrqponmlkjihgfedcbaZYXWVUTSRQPONMLKJIHGFEDCBA CvOYTXp^OnzyxwvutsrqponmlkjihgfedcbaZYXWVUTSRQPONMLKJIHGFEDCBA Y3  

TECHNICAL DATA OF H400-450 SERIES zyxwvutsrqponmlkjihgfedcbaZYXWVUTSRQPONMLKJIHGFEDCBA

Franm e 

referenc e 

and siz e 

Rate d 

powe r 

Ful l  loa d zyxwvutsrqponmlkjihgfedcbaZYXWVUTSRQPONMLKJIHGFEDCBA
c u r r e n t  at 

rat e d 
volt ag e 

Ful l  load 
sr eed i n 

revolution s 
per  minut e 

Efficienc y 
Powe r 

facto r 

Direc t  on in e 
st ar t in g 

t orqu e rat i o 

Di e c t  on l in e 
st ar t in g 

cur ren t  rat i o 

Direc t  on t in e 
pul l  ou t 

t orqu e rat i o 

Mean soun d 
pressur e 

leve l @1m  o n 
no loa d 

Volt ag e zyxwvutsrqponmlkjihgfedcbaZYXWVUTSRQPONMLKJIHGFEDCBA

mmM zyxwvutsrqponmlkjihgfedcbaZYXWVUTSRQPONMLKJIHGFEDCBA . . . . 

4 4 0 0 L 4 - 4 630 633 1490 96. 3 0. 89 1.7 6. 8 2. 2 108 660 

5 4 5 0 L1 - 4 630 639 1490 96.5 0.89 1.6 7 2.6 108 660 

6 4 5 0 L 2 - 4 710 718 1490 96. 5 0. 89 1.6 7 2. 6 108 660 zyxwvutsrqponmlkjihgfedcbaZYXWVUTSRQPONMLKJIHGFEDCBA

7 
4 5 0 L3 - 4 800 806 1490 96.7 0.89 1.6 7 2.6 108 660 

8 4 5 0 L 4 - 4 900 905 1490 96. 7 0. 89 1.6 7 2. 6 108 660 

g 4 0 0 L1 - 6 355 649 990 96 0.86 2 6.5 2.2 98 380 

10 4 0 0 L 2 - 6 400 729 990 96 0. 86 2 6.5 2.2 98 380 

11 4 0 0 L3 - 6 450 817 990 96 0.86 2 6. 5 m 102 380 

12 4 0 0 L 4 - 6 500 906 990 96 0. 86 2 6. 5 2. 2 102 380 

13 4 5 0 L1 - 6 500 534 990 96.2 0.86 1.6 7 2.6 102 660 

14 4 5 0 L 2 - 6 560 596 990 96. 3 0. 85 1.6 7 2.6 105 660 

15 4 5 0 L3 - 6 630 670 990 96.5 0.85 1.6 7 2.6 105 660 

16 4 5 0 L 4 - 6 710 751 990 96. 5 0. 85 1.6 7 2. 6 105 660 

17 4 0 0 L1 - 8 315 596 740 96 0.82 2.1 6.1 2. 4 95 380 

18 4 0 0 L 2 - 8 355 676 740 96 0. 82 2. 1 6.1 2. 4 95 380 

19 4 0 0 L3 - 8 400 757 740 96 0.82 2.1 6.1 2.4 99 380 

20 4 5 0 L 1 - 8 400 445 740 96 0. 89 1  .6 7 2.6 99 380 

21 4 5 0 L2 - 8 450 499 740 96 0.82 1.6 7 2.6 99 380 

22 4 5 0 L 3 - 8 500 553 740 96. 2 0. 82 1.6 7 2. 6 99 380 

23 4 5 0 L4 - 8 560 621 740 96.2 0.82 1.6 7 2.6 102 380 

24 4 0 0 L 1 - 1 0 250 512 590 95. 2 0. 77 2.1 6.5 2.4 99 660 

25 4 0 0 L2 -1 0 315 639 590 96 0.77 2.1 6.5 '-.  2.4 99 660 

26 4 0 0 L 3 - 1 0 355 718 590 96 0. 77 2.1 6. 5 2. 4 99 660 

27 4 5 0 L1 -1 0 355 732 590 95.6 0.77 1.6 ^ 2.6 99 660 

28 4 5 0 L 2 - 1 0 400 822 590 95. 6 0. 77 1.6 7 2.6 99 660 

29 4 5 0 L3 - 1 0 450 927 590 95.6 0.77 1.6 7 2.6 99 660 


